Question #76619

There are three 20.0 ohm resistors in series across a 120.0-V generator. What is the
equivalent resistance of the circuit?

What is the current in the circuit?

What is the total voltage drop across the circuit?

Solution.
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1) Equivalent resistance of the circuit is R1+R2+R3+Rg=60+Rc Ohm. Rs has very low

resistance, therefore we can neglect this resistance. To calculate Rg resistance to insufficient
data.

2) Current in this circuit I = LA =24
R 60

3) To calculate the voltage drop in the circuit, there is no data on internal resistance Re.
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